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SE_RC MR4H P FM

B TR IR 55 448508 SE_RC, A SCRSAE IE 5 IR7s R AR 55 44 Pk #2101 URL
Pt [WEBNAMEY [k 55 4 9R1? [ 84 R ]=[Z88UE] [&[Z 84 R ]=[Z 85
fE]1*. URL 4ib5RH K454ty utf-8.

URL 7~ :
http://serviceaddress/SE_RC?st=RC&start=116.37007,39.97512&end=116.37016,39.97598&cd=wgs84

2 RC

2.1 ik

IEAR S5y SE_RC RS, 58 1 SE_RC 55 HIKHR 7 Thie -

2.2 BY
ZHAFR X WE | BRI iR Ab B H/E
st MR A | 2 e HAEFT LA RC. Nearest
start LR A v T Z A2 i
end ks v T Z WAL i
output BB | & xml | ffHBRAE SCRE xml A json 45 SR .
callback | ol & %1 | &5 G output=xml i, ZSH LK.
% callback far i 45 w~ B, R
callback=aaa:
aaa&&aaa(json M4 Hi4h 5
waypoint | R4 3 x 2 DL E 16 MEE 5
cd NS | gej0 | U ffgcj02. wgs84
[rEA 2
type UES i 1 o BRIME 0: i 1: WAL 2: BmEADT

RGN KA AR BN B0, NPT R SIS A2, 5
5 AR 55 K. il
st=RC&start=115.28472,39.38593&end=115.28984,39.38183&type=1
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2.3 =15l

e
http://serviceaddress/SE_RC?st=RC&start=116.35622,39.93696&end=116.00111,40.36013
k. AR, ZEN/E,

i 2:
http://serviceaddress/SE_RC?st=RC&start=116.35622,39.93696&end=116.00111,40.36013&type
=2

R AT E], &R )RR R A TR .

7~ 3:

http://serviceaddress/SE_RC?st=RC&start=116.34498,39.96101&end=113.26475,23.19688&way
point=121.28641,31.11366

k. MAERTH AL EHgEIE M.

2.4 Hid

2.4.1 xml % H

?2xml version="1 0" encoding="lITE=8"?

<xml>
A-—EHERRE—
{status>ok</status>
AR —>
{result>
A—BAERKE—>
{distance>10. 2/A B.<{/distance>
<time>643Eh</time> <! — s i ] —>
events><{!——HMEE—
<event><!-——HLANEHfE—>
<roadname></roadname>< ! —Ii& & 4 Fr—>
<{1Ing>116. 35622</1ng>< | —ZfF—>
<lat>39.93696</lat><|—£fifF—>
<nextdistance>28</nextdistance><!—2Iik N — ML AEE-—>
<reachtype>Hi & </reachtype><! —— i 7 i} [a]—>
<turntype>ZESLIE HR</turntype><!| —FE a2k Hl—>
<roadlevel IRHTPIHE < /roadlevel >< | —i8 & 252 —>
<{changename> %A A </changename>< | —{AF S 1 —>
<eventprompt>IEZR A &, WS T4 18 4T B 28K </eventprompt > < | —ZE A fffiiA—>
<realtraffic>ZE8</realtraffic><|—J &, SEIfEKIVIRES—>
<{/event>
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<event»
{roadname></roadname>
<1ng>116. 35654</1ng>
<{lat>39.93713</lat>
<nextdistance>132</nextdistance>
{reachtype>4kZL4TH</reachtype>
<turntype> i HE</turntype>
<roadlevel IR PRIHEHE</roadlevel >
{changename> %A I{AF</changename>
{eventprompt> ¥, B N TLZIEHE, 1T911322K</eventprompt>
<realtraffic>ZEfg</realtraffic>
{/event>
<{events>
{route>
<pointnum>62</pointnum>< ! ——JE 5 N4 >
{routetxt>
D5GxAET/PAANKbEAdP88AA2RsQBO/ zwAFpGxAID/PAAWkbEAgP88ABeRsQCK/ zwAG JGxA Jr/PAAYkbEAmv88ABeRsQCd
/zwh </routetxt><!——IJCHE SR, NAKR I = S BEH SO
{/route>
{/result>
</xml>

2.4.2 json %

{
“status”:”ok”, /IRAS

” 1.7
eSSttt — T

“distance”:”10. 2 AR”, // S KB
“time”:”6 53ER”, // SRR R NEAE B st []
“events”: [//FHES

{
“roadname”: U E | TR KM, //1EHK ALK
“1ng”:116. 35622, /G
“lat”:39. 93696, [/
“nextdistance”:”92”, //BEE R — A HA RS
“reachtype”:” K", / /R
“turntype”: " ZELIEIL”, / /R A
“roadlevel:”[Hi&”, / /TG RAY
“changename”: "I&HBL",  //BUEHA
“eventprompt”: " IEJL A &, VP ELI TR RBATRE 92 K7, // A1 A
“realtraffic”:”Z¢i8” / /SIS BEBUIRAS

1
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“route”: { [ < Bak B AR
“pointnum”:”258”, // I & EL
“routetxt”:”

D5GxAET/PAANKbEAdP88AA2RsQBO/ zwAFpGxA ID/PAAWKbEAgP88ABeRsQCK/zwAG JGxA Jr/PAAYkbEAmv88ABeRsQCd
/zwh” WS Y=t
}
}
}

3 Nearest

3.1 R

BEAR 55 Rl s IR S5, BIR RlTE e E B B 46 2 B i s, T A i o

SHERR | aX | B | BOA | ke &iE
st RssRE | 2 " HAE W LA RC. Nearest
point RAB R & p LRI N R A RAL, P R
G52 FE 2 A FHE 5 5 B o
cd HINALRR | T gcio | G B {Hgcj02. wgs84
izt 2
course W% Jim | 5 H AR5 R S IEAC T R e f . BT 1/10
i
BUEYEME: 0-3599
1800(H L )
O(H L)
output Wil | & xml | {EHERAE S HE xml A json &k B H .
callback | 9 i &% % | & ¥ output=xml i, ZZHLER.
# callback i H 4 R &~ # , & &
callback=aaa:

aaa&&aaa(json Ff H &5 5)

3.3

7~ http://serviceaddress/SE_RC?st=Nearest&point=115.28472,39.38593
iR ErihE R IS 115.28472,39.38593 HiilL [ £
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3.4 Wi

3.4.1 xml % 4

<?xml version="1.0" encoding="UTF-8”?>
<xml>
{status>ok</status>
{result>
{route>
<{roadname> A FN#% £k </roadname>
<{1ng>116. 35622</1ng>
<lat>39.93696</lat>
<{length>932</length>

<roadtype>AZk (L TZIAEHE) </roadtype> <!

<roadlevel >[EiE</roadlevel >

UM RIRE

Al R—>

I—ZRig—>

AR AFE—>

AT E B EROL I R —
=TI B b Rl ) LR >
==K—>

EHRAE —>

——TERPH —>

{lanewidth>[3k"5K]1</lanewidth> <!——IiE & 55 f5—>

<roadlimit>70</roadlimit>

<{lanenumber> =ZEjE</lanenumber> <!

{distance>834</distance>
<{pointnum>16</pointnum>
{routetxt>

6xkm92dp7abxklx2dpbqbxklc2dpbv6xkkv2dp556xkka2dp476xk jw2dp3n6xk jd2dp2v6xkiy2dp286xkib2dplb6x

——PRHEREE, 2%, JdEUAikm/s——>
T8 >
A——BIAZLRBEBE RS, AL K->
ESCISS I e

khz2dp0s6xkhc2dozubxkgy2doz86xkg62doy46xkff2dowzbxkea2dovd6xkdt2doup</routetxt>

{/routetxt>
{/route>
{/result>
</xml>

3.4.2 json %

I ——TE R R IR —>

{
“status”:”ok”, / /B2 HRES
“rosult”:{ [ /5 Y14 B
“route”: { //TBEEAE R
“roadname”: " ARAIFKEL”, / /1B AR

“roadtype”: " AL (LTFLIAENED 7, //EE A

“roadlevel”:” [Ei&”,
“length”:79327,
”lanenumber”:”3”
“lanewidth”:”20”
“roadlimit”:”70”,

“Ing”:”116. 2358”

/ /TE 1% 5]
/B

/ /BB AEIE S
/[ TE 5

/ /T 1% R A

//BE B AW SR TE RS R R R
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lat™:739. 345667, / /0B ) AR TE B T il L R
“distance”:”834", //BEES AT ) R AEE % b s s R
“pointnum”:”16”, / /T8 W 1 S E

“routetxt”:”6xkm92dp7abxklx2dp6qbxklc2dp5v6xkkv2dps56xkka2dp476xk jw2dp3n6xk jd2
dp2v6xkiy2dp286xkib2dplbbxkhz2dp0s6xkhc2dozubxkgy2doz86xkgb2doy46xkff2dowzbxke
a2dovd6xkdt2doup” //TE B ) S5 R IA

4 THIRFEAN

4.1 xml #H

<?xml version="1.0" encoding="utf-8"?>

<xml>
{status>error<{/status> <!——IR[EPRSE—>
lerror>ZHF </ error> | —fE A iR —>
</xml>

4.2 json it

“status”:“error” [ /IR ELR S
“error”:"ZHHAEE" / /A
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